ELEC 3004 — Systems: Signals & Controls
Pop Quiz
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1. Linearity [2 points] Peer Feedback

Is the system described by the following linear or non-linear?
(Please briefly justify your answer)
© = dx(t)
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2. Convolution [3 points] A v £
Recall that convolution is given by: _ (‘ﬁ\* \:32 _\_ 3{ XA 4’3_’;\ ¥z

x, () % x,(8) = fooxl (Dx (¢ — Ddr

What are the following convolutions?
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(@) x(t) * 6(t)
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(b) x(t) * x(t)
£ x(€)
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3. Second Order Systems
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Recall that for a series RLC circuit, the response is second order
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Determine the C for a circuit with R=1Q, L=1H and the following response:

(hint: the values might be larger than “common” parts, B_nas6)
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